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DU BPEd

Topic:- New_DU_J18_BPED

1) The weight of a Basket Ball is—

dRPE §id P 9o - [Question ID = 7090]

1. 500-600 gm / 500-600 UTH [Option ID = 28352]
2. 400-500 ounce / 400-500 31 [Option ID = 28351]
3. 567-650 ounce / 567-650 311 [Option ID = 28353]
4. 567-650 gm / 567-650 UTH [Option ID = 28354]

Correct Answer :-
e 567-650 gm / 567-650 UTH [Option ID = 28354]

............ foreft safe &t fafRry &maT & Wg@ & IR # 919 a1 @ [Question ID = 7143]

1. Individualization / SfdTd [Option ID = 28566]

2. Muscles balance / AUl o A AR [Option ID = 28565]
3. Overload / 3fIHR [Option ID = 28564]

4. Progression / DI [Option ID = 28563]

Correct Answer :-
« Individualization / SfddTTd [Option ID = 28566]

3) Which among these is not an eating disorder

9 9 oI 91 f9PR T8 @I T 8
[Question ID = 7083]

1. Malnutrition / YISO [Option ID = 28326]

2. Anorexia nervosa / TR qarar [Option ID = 28323]
3. Bulimia nervosa / JfQIfErT 9aRT [Option ID = 28324]

4. Soared throat / TIcl § 37 31T [Option ID = 28325]

Correct Answer :-
« Soared throat / TIdl H 37T 31T [Option ID = 28325]

4) Development of healthy habits does not depends on

W 3TEd] &1 faprT 39 W) R 78 &1 @ [Question ID = 7146]

1_Family practices / UI¥GING TUT3M [Option ID = 28576]

2. Peer group / it & qHg [Option ID = 28577]
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3. Your choices / %8RI T¥¢ [Option ID = 28575]
4. Participation in Sports / O ¥ HRfieR [Option ID = 28578]

Correct Answer :-
« Your choices / T&RI & [Option ID = 28575]

5) Discipline means

SR &1 Haad 8 [Question ID = 7111]

1. Strict behavior / ¥%&d AdgR [Option ID = 28435]

2. Going by the rules / T & 3R ST 38 € [Option ID = 28438]
3. Severe punishment / 4R TSI [Option ID = 28437]

4. Obedience / TRITHIRGT [Option ID = 28436]

Correct Answer :-

« Going by the rules / a9 & 3IR T g € [Option ID = 28438]

6) Rakesh Kumar Patra qualified on apparatus championship in Gold coast, 2018.
AP FHR UeT A Mes dc, 2018 | IUHIUT AfRGARIT UR 3r&dr UTe $11 [Question ID =
7081]

1. Parallel Bars / SHMIAR FaRd [Option ID = 28317]
2. Vault Table / diec <& [Option ID = 28318]

3. Roman Rings / I g [Option ID = 28316]

4. Floor exercise / dd ARTH [Option ID = 28315]

Correct Answer :-
e Roman Rings / I R [Option ID = 28316]

7) Sports culture can be developed with

T Gpfa fae e forar s awar g & 1Y [Question ID = 7144]

1. Education and awareness about sports participation / T HifteRt & IR H e 3R SRewmdr [Option ID =
28569]

2. High economy / 3= 31Jeqa®=T [Option ID = 28567]

3. Availability of the sports infrastructure and equipment / Wd g1l i 3R IUHRON &I IUAKIAT [Option ID =
28568]

4. Use of traditional values / URUR® Tedl &1 SUIRT [Option ID = 28570]

Correct Answer :-
« Education and awareness about sports participation / @d HFfIGR & TR H e 3R SIFR=dT [Option ID =
28569]

8) Which among the following is not a communicable disease?

frafafaa & 9 o9 91 dwavfig 9 78 82 [Question ID = 7075]

1. Dengue / %’11[0ption ID = 28291]

3. Chicken pox / W OPHen D S S gww . FirstRanker.com
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4. Hypertension / 3= Y&ddIU [Option ID = 28294]

Correct Answer :-
» Hypertension / 3= X&ddIU [Option ID = 28294]

9) “The capacity of an individual to do daily routine work without fatigue , to participate in physical
activities and still reserve enough to meet any emergency” is

{5t sufe ot Y1 & famn e fea=at &1 w4 F31, IR nfafaftral # yrT a9 & fog ofv anf oft
et off srmuTasTa B 1 B & e vt smRféra = $Y &HaT” [Question ID = 7076]

1. Physical wellness / IRIRG Hearor [Option ID = 28295]
2. Physical capacity / RIRIRe &l [Option ID = 28298]
3. Physical fitness / [N e [Option ID = 28296]
4. Physical endurance / IRING RS [Option ID = 28297]

Correct Answer :-
« Physical fitness / JRIR® fthead [Option ID = 28296]

10) Ryder cup is associated with which sport?

I3ST HU fHT @d A TST §3MT 82 [Question ID = 7106]

1. Badminton / §§ffc [Option ID = 28416]
2. Cricket / fohdre [Option ID = 28415]

3. Football / Ppesial [Option ID = 28417]

4. Golf / it [Option ID = 28418]

Correct Answer :-
« Badminton / St [Option ID = 28416]

11) Which day is celebrated as sports day in India?

YRd # @ feaq & ¥y # ford f& #=mam ST 82 [Question ID = 7084]

1. 29 August / 29 3T [Option ID = 28327]
2. 30 August / 30 37X [Option ID = 28328]
3. 31 January / 31 SFaR! [Option ID = 28329]
4. 10 April / 10 3% [Option ID = 28330]

Correct Answer :-
e 29 August / 29 3iIRd [Option ID = 28327]

12) Which country tops with 50 medals in 3rd South Asian Junior Athletics Championship?

T 2féor R R vydfew IR & 50 ygw & 1Y HF 1 32 W W 82 [Question ID =
70671

1. Indonesia / $8HIRMAT [Option ID = 28261]
2. India / a1 [Option ID = 28259]
3. Pakistan / OTf&d [Option ID = 28260]

V. I === P, D, [aYalaValat]
T LAl QNI [UPLUUIT 1Y = 202UZ |
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Correct Answer :-
« India / 37$aT [Option ID = 28259]

13) ‘Deodhar Trophy’ is related to which sport?

AR TIHT fbH Wa A Hafla 82 [Question ID = 7086]

1. Volleyball / aTeitaTel [Option ID = 28335]
2. Tennis / <99 [Option ID = 28338]

3. Cricket / fopdre [Option ID = 28337]

4. Football / esiid [Option ID = 28336]

Correct Answer :-
« Cricket / fohdhe [Option ID = 28337]

14) Jeev Milkha is associated with

Sitg firen ¥ Wsfa 8 [Question ID = 7135]

1. Bridge / Gl [Option ID = 28532]

2. Hockey / §lbt [Option ID = 28533]

3. Athletics / SI™ITH [Option ID = 28531]
4. Golf / Te% [Option ID = 28534]

Correct Answer :-
« Golf / Te® [Option ID = 28534]

15) The time interval between the entry of disease agent in the body and manifestation of clinical
symptoms is called

TR & T Toie & 73w SR AP d&vl & Uded S oI YT ST Bl oTdT & [Question ID = 7124]

1. Fastigia / IS [Option ID = 28488]

2. Disease cycle / 07T 9 [Option ID = 28487]

3. Convalescence / SRITITTH [Option ID = 28490]

4. Incubation period / ST 3afey [Option ID = 28489]

Correct Answer :-
« Incubation period / ™I 3{df¥ [Option ID = 28489]

16) Lesson planning should be guided primarily by the consideration of meeting the needs of the

TS i1 &) vl &) R H & AR A wufire e far s afee
[Question ID = 7115]

1. Satisfying parents / S¥ HIdT-fUdT [Option ID = 28454]

2. Providing pupil with work / &TH & 1Y B U&H HRAT [Option ID = 28452]
3. Average child in the class / &1 T 3Ngd s= [Option ID = 28451]

4. The curriculum goals / UTadshH el [Option ID = 28453]

Correct Answer :- .
www.FirstRanker.com
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e The curriculum goals / UT&dshH et [Option ID = 28453]

17) From the following , name the vitamin which is water soluble

frafafad Q, e &1 am § S ur geeiia 8 [Question ID = 7120]

1. Vitamine B / fde1f&= &} [Option ID = 28473]
2. Vitamine E / fae1fia $ [Option ID = 28472]
3. Vitamine K / fdeTf®™ & [Option ID = 28474]
4. Vitamine A / faeTf&= T [Option ID = 28471]

Correct Answer :-
e Vitamine B/ deTfie o [Option ID = 28473]

18) Why do we need to eat a balanced diet?

g Tgfera WIS @M @1 9vd &I 82 [Question ID = 7057]

1. To give us energy / 8 Suif &= & fTT [Option ID = 28219]

2. For our bodies to function properly / AR TRR & fol4 31 T HH H o 1o1T [Option ID = 28220]
3. To prevent us getting fat / BH 99T U &= 9 U & forg [Option ID = 28222]

4. To help us grow / e de- T Agg a3 & fog [Option ID = 28221]

Correct Answer :-

« For our bodies to function properly / AR YRR & 1T 31 T HH &+ & AT [Option ID = 28220]

19) According to bio-medical concept health is generally understood to be

Sig e SaURT & AR WA THAR TR HHT ST 8
[Question ID = 7118]

1. Freedom from disease / §THRT ¥ Wa=AdT [Option ID = 28466]

2. Soundness of body and mind / IRR 3R feAm &t Jeedl [Option ID = 28464]
3. A quality of the human organism / HIHd Sia &1 TUrad [Option ID = 28463]
4, Functional efficiency of the organ / 3fT &I Brafdd gerd [Option ID = 28465]

Correct Answer :-
« Freedom from disease / STHR! ¥ T [Option ID = 28466]

20) The most important challenge for a teacher is:

% e & fore Jad ggayuf gt 8: [Question ID = 7068]

1. To make students do their homework / BTl &1 3T §IHd® B P oTT [Option ID = 28264]

2. To make teaching learning process enjoyable / fRI&0T IRg= St UfchadT 1 J@a &1 & T [Option ID = 28266]
3. To maintain discipline in the classroom / &&T | SR §91T X9 & foTQ [Option ID = 28263]

4. To prepare question paper / U4 U IR B & fam [Option ID = 28265]

Correct Answer :-
+ To make teaching learning process enjoyable / TRI&U1 ¥Rg &1 Ufshal &1 &g S & T [Option ID =
28266]
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21) Research demonstrates that sportspersons benefit from the presence of an audience or other
athletes, supports the concept of

ity gufar 8 fop RRrenfat #t axfet a1 s gueliel 9 SufRufa & amv gar 8, soet sraumon 1 wwd= s
2 [Question ID = 7066]

1. Social interaction /?ﬂ'ﬂ]ﬁ@ Tuds [Option ID = 28257]

2. Social loafing / ITHIfSI® TARIT [Option ID = 28255]

3. Social facilitation / TSI FfAHT [Option ID = 28256]

4. Social dependence / MRS fAHRaT [Option ID = 28258]

Correct Answer :-
« Social facilitation / |THTSIe FfaeT [Option ID = 28256]

22) The primary goal of intramural competition is:

TR Ufaaiirar &1 wufiie @84 3: [Question ID = 7073]

1. To develop competition among students. / BT & d1° Ufaeel fawRId e & faW| [Option ID = 28285]

2. To improve sports performance for higher level of competition. / gfaeyf & = TR & U 9d gekq= o JUR
P & AU [Option ID = 28286]

3. To provide opportunity for mass participation of students. / S &I THfgd UFNGR! & AR UGH B & g |
[Option ID = 28283]

4. To participate in Inter-school competition. / $¢X ¥bd UiRNTATAT H URT 4 & fefT| [Option ID = 28284]

Correct Answer :-

o To provide opportunity for mass participation of students. / BT BT W YIfERT & AR UaH TR &
feTT| [Option ID = 28283]

23) If we drink contaminated water we are liable to contact

3R g9 gRid urit 1 § Y 89 Hud 9 & e IRer €4 & [Question ID = 7123]

1. Measles / @3RI [Option ID = 28485]

2. Cholera / 89T [Option ID = 28483]

3. Malaria / HAAT [Option ID = 28484]

4. Yellow fever / Uid SR [Option ID = 28486]

Correct Answer :-
o Cholera/ Sl [Option ID = 28483]

24) In the childhood, individual's behaviour is most influenced by

F9U9 ¥, fe &1 AGeR Fa9 3R gH1fad a1 @ [Question ID = 7065]

1. Community / ¥HaI [Option ID = 28251]

2. Family / URAR [Option ID = 28254]

3. Peer group / it & HHg [Option ID = 28253]
4. School / ¥ d [Option ID = 28252]

Correct Answer :-
o Family / GRAR [Option ID = 28254]




[’l » FirstRanker.com

J._ Firstranker's choice . )
www.FirstRanker.com www.FirstRanker.com

25) The daily requirement for the micro mineral is

geu @i F fore e siraxaedr 8 [Question ID = 7149]

1. 0.1 grams / 0.1 UTH [Option ID = 28587]

2. 0.01 grams / 0.01 UTH [Option ID = 28590]

3. 0.2 grams / 0.2 UTH [Option ID = 28589]

4. 0.1 milligrams / 0.1 AU [Option ID = 28588]

Correct Answer :-
e 0.01 grams / 0.01 UTH [Option ID = 28590]

26) If remarks are passed by students on you as a teacher you will

afe R P gRT Rerd & Fu & fRwfdmi uriva $ st € @) 3y $3A [Question ID = 7096]

1. Expel them from the college / It pIao Y 96 Fdra [Option ID = 28376]

2. Take revenge while evaluating internal test copies / 3fidid URIEUT Ufadl &1 Gedidh Hxd IO daall o ol
[Option ID = 28377]

3. Punish them / 3% &f&d & [Option ID = 28375]

4. Be impartial at the time of evaluation / Jedich & THY fAwef I8 [Option ID = 28378]

Correct Answer :-
« Be impartial at the time of evaluation / Jcdich & rg e 38 [Option ID = 28378]

27) The inverted U hypothesis is the earliest model to explain the relationship between athletic
performance and

IdeT U RS a1 Tydfes uaela & dta Heaul o) arsm & Y 9a@ W1 Afsd @ [Question ID = 7150]

1. Arousal / 3RT3SId [Option ID = 28593]
2. Aggression / k] [Option ID = 28594]
3. Tension / =M [Option ID = 28592]

4. Stress / d-Id [Option ID = 28591]

Correct Answer :-
o Arousal / RT3 [Option ID = 28593]

28) Bones in human body are classified on the basis of

TTa IRR | 55 3t {5 snur wR affea fasan Siar @ [Question ID = 7138]

1. Joint and Movement / T§gad 3R 3figier [Option ID = 28546]

2. Size and Shape / 3T&HR 3R 3MHfA [Option ID = 28545]

3. Structure and Functions / T 3R R [Option ID = 28543]

4, Location and Attachment / &9 3R 3{JcTdd [Option ID = 28544]

Correct Answer :-
« Size and Shape / 3T&R 3fR 3MFHfd [Option ID = 28545]

www.FirstRanker.com
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BT UTeH & HRUI T & [Question ID = 7074]

1. Parasite / TRGitd! [Option ID = 28290]
2. Virus / d1S3Y [Option ID = 28287]

3. Fungus / $$HHAT [Option ID = 28289]
4. Bacteria / STdT9] [Option ID = 28288]

Correct Answer :-
e Virus / dIgY [Option ID = 28287]

30) The components of wellness include all except?

HV b TCH! P Bred g AT 82 [Question ID = 7069]

1. Physical / 1ifds [Option ID = 28267]

2. Intellectual / §f&H [Option ID = 28270]

3. Spiritual / 3MeATf@I [Option ID = 28268]

4. Psychological / HAISTA@® [Option ID = 28269]

Correct Answer :-
« Intellectual / Sifge® [Option ID = 28270]

31) When administering CPR, what is breaths-to-compressions ratio?

WRSMR &1 YT Hd THY, JiG-A-JUIS uTd FT BT 82 [Question ID = 7061]

1. 1 breathe every 30 compressions / 1 |9 8% 30 TUled TR [Option ID = 28236]
2. 1 breathe every 15 compressions / 1 |19 8% 15 U8 W [Option ID = 28237]
3. 2 breaths every 5 compressions / 2 9H 8 5 Jdted W [Option ID = 28238]

4, 2 breaths every 30 compressions / 2 99 R 30 ?ﬂﬂ@‘[ TR [Option ID = 28235]

Correct Answer :-
« 2 breaths every 30 compressions / 2 T 8% 30 ¥Ule UR [Option ID = 28235]

32) Consuming rich food without corresponding calorie burning mechanism leads to

= e ¥ P e F 97 S =1 Tz He= ST STHT 81T 2 [Question ID = 7121]

1. Abnormal weight gain / SITH dulH delHT [Option ID = 28478]
2. Body deformity / JIRIR& fafd [Option ID = 28477]

3. Loss of efficiency / Q&I T Jh T [Option ID = 28476]

4. Bulging of tummy / U< &1 37MTal [Option ID = 28475]

Correct Answer :-
« Abnormal weight gain / 3T dul delHT [Option ID = 28478]

33) Deficiency of which of the micro minerals may cause diabetes

geu @il & A HIF J1 FH AYAE HT SR 9 bl ¢ [Question ID = 7126]

1. Chromium / SITHIH [Option ID = 28498]
2 TIron / ST [Option ID = 28497]

3. Cobalt / ®IaTee [Option ID = 28495] _
www.FirstRanker.com
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4, Copper / didl [Option ID = 28496]

Correct Answer :-
« Chromium / SIFHAH [Option ID = 28498]

34) Pre-competition meals should be rich in

W-ufeaifar Yis 99 g1 91RT [Question ID = 7145]

1. Fat / Hil [Option ID = 28572]

2. Carbohydrates / awa“fgrs’;%‘c’ [Option ID = 28573]
3. Water / It [Option ID = 28571]

4. Protein / 9Tci [Option ID = 28574]

Correct Answer :-
o Carbohydrates / WETE’T?{@E [Option ID = 28573]

35) Carbohydrate loading used by athletes means

YA §RT IUTRT B 14 a7l Pralgrsec @IS HT Aaed ¢ [Question ID = 7079]

1. Generating energy per unit of time / JHJ 31 ufd sobl'{f Sl I BT [Option ID = 28310]

2. Getting energy from the blood / Yad Y il U AT [Option ID = 28307]

3. Storing energy in muscles / AFFUFRR # SHuif HSRUT [Option ID = 28308]

4. Spending energy during hard physical workout / Hi3T IRING IR & TRA Holl T HIAT [Option ID =
28309]

Correct Answer :-
« Storing energy in muscles / HITURMY & ol HSRUT [Option ID = 28308]

36) A teacher is expected to do all except

s g B SieH? 9t B #31 91 I § [Question ID = 7100]

1. Sponsor club and other school affairs / YRS Fad 3R 3 Ipd aHAl [Option ID = 28393]

2. Help pupils to solve their problems / faenffat &Y It grEnsll ®) 8@ B § Heg B [Option ID = 28392]
3. Participation in community activities / HIHE{IW nfafafert o yrfierRt [Option ID = 28391]

4. Taking interest in politics / oI # B o [Option ID = 28394]

Correct Answer :-
o Taking interest in politics / X ST | S o1 [Option ID = 28394]

37) Sunlight is a source of

GRS B A= A § [Question ID = 7141]

1. Vitamin B / fdeT® &t [Option ID = 28556]
2. Vitamin D / fae1fii= St [Option ID = 28558]
3. Vitamin A / fae1f®= T [Option ID = 28555]

4. Vitamin C / faeT®= T [Option ID = 28557]

—T—Correct Answer =

www.FirstRanker.com
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« Vitamin D / fa<Ifi= St [Option ID = 28558]

38) ‘Hopman Cup’ is related to which sports?

BIYHE U {59 @ ¥ Tdf¥d 82 [Question ID = 7094]

1. Football / Ppesie [Option ID = 28367]

2. Badminton / Sgftfes [Option ID = 28369]

3. Lawn Tennis / e & ¥d ST ara 49 Jd [Option ID = 28368]
4, Cricket / e [Option ID = 28370]

Correct Answer :-

« Lawn Tennis / i # @d 99 aTall 99 @ [Option ID = 28368]

39) When was the olympic flag flown for the first time

3NdfU® @ae Ugdl 91R $d ISHT 4T 4T [Question ID = 7129]

1. 1924 [Option ID = 28509]
2. 1920 [Option ID = 28508]
3. 1914 [Option ID = 28507]
4. 1910 [Option ID = 28510]

Correct Answer :-
e 1920 [Option ID = 28508]

40) Olympic emblem symbolizes

3N<fUe udie Udie & [Question ID = 7136]

1. Cooperation and friendship / T&a1T 3R Gt [Option ID = 28538]
2. Cooperative relationship / ¥g®RI ¥&¢ [Option ID = 28537]

3. Sports promotion / & UgrArd [Option ID = 28536]

4. Sports superiority / [ Iyl [Option ID = 28535]

Correct Answer :-
» Cooperation and friendship / TeanT 3R Gt [Option ID = 28538]

41) Intramural programme creates in students the sense of / EETFRFI TITH BT ST YT | §1d1 %

I. Mass participation / 919 Yrfierd
II. Selfishness/ &l

IIL. Enmity / Il
IV. Maximum involvement / 3if&fdad HRferst

Find the correct combination:

g Yo Wisi: [Question ID = 7078]

1. II, IV [Option ID = 28304]
2.1, IV [Option ID = 28306]
3.1, II [Option ID = 28303]
4 1111V [Qption 1D = 28305]

www.FirstRanker.com
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Correct Answer :-
o I, IV [Option ID = 28306]

42) The weight of the table tennis ball shall be

9d 19 9Td &1 a919 T [Question ID = 7132]

1.2.1 gm/ 2.1 UMH [Option ID = 28521]
2.2.9gm/ 2.9 U1H [Option ID = 28519]
3.2.5gm /2.5 U [Option ID = 28520]
4. 2.7 gm / 2.7 U1H [Option ID = 28522]

Correct Answer :-
e 2.7gm/ 2.7 UM [Option ID = 28522]

43) The weight of Javelin for women is?

Higanaii & fIT HIe BT 9519 HIT 82 [Question ID = 7091]

1. 800 gm / 800 UTH [Option ID = 28356]
2. 600 gm / 600 UTH [Option ID = 28355]
3. 700 gm / 700 U™ [Option ID = 28358]
4. 825 gm / 825 UTH [Option ID = 28357]

Correct Answer :-
e 600 gm / 600 UTH [Option ID = 28355]

44) Who is the president of Indian Olympic Association

HRAT SHieife 69 & e P 5

[Question ID = 7109]

1. Rajayavardhan Singh Rathore / Ierae Rig el [Option ID = 28430]
2. Ajay Chautala / 3{STT dieTal [Option ID = 28428]

3. Narendra Batra / FR& &3 [Option ID = 28429]

4. Lalit Bhanot / @ferd HHT [Option ID = 28427]

Correct Answer :-
« Narendra Batra / 7IX& &3 [Option ID = 28429]

45) What does nervous system does not include?

dfeT a1 A T Tfire T8Y 82 [Question ID = 7070]

1. Brain / fGHTT [Option ID = 28271]

2. Spinal cord / H¥GUS [Option ID = 28273]

3. Head / &R [Option ID = 28272]

4. Sensory organs / Tdad 31T [Option ID = 28274]

—| Correct Answer :-
« Head / &R [Option ID = 28272]

www.FirstRanker.com
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46) Out of the following name the disease that is not categorized as a communicable disease?

fafafad 7 & S9rR P dwpaofia S0t & = § arffea 78 forar a1 82 [Question ID = 7122]

1. Whooping cough / Tl Wikt [Option ID = 28481]
2. Leprosy / 98 T [Option ID = 28480]

3. Tuberculosis / 9&HT [Option ID = 28479]

4. Chicken pox / EECY [Option ID = 28482]

Correct Answer :-
e Leprosy / ¥ AT [Option ID = 28480]

47) Health is primarily a responsibility of the

W g1 ¥ A et | [Question ID = 7058]

1. Community / 5T [Option ID = 28223]
2. Individual / Sfad [Option ID = 28224]

3. Parents / ATdl-fUdl [Option ID = 28226]
4. State / IS [Option ID = 28225]

Correct Answer :-
« Individual / fad [Option ID = 28224]

48) What is the colour of the fifth and sixth ring of the target face in archery

THReoh A vey 9 Ft uiwd] 3R T3Y 1 &1 71 T § [Question ID = 7130]

1. Black / @Tci [Option ID = 28512]
2. White / §g [Option ID = 28511]
3. Red / dId [Option ID = 28513]
4. Blue / IdT [Option ID = 28514]

Correct Answer :-
e Red / dId [Option ID = 28513]

49) What is the name of football in FIFA world Cup 2014?

BIwT fay $9 2014 § Pedid ST ATH FIT YT? [Question ID = 7108]

1. Jabulani / SIS [Option ID = 28424]

2. Telstar / TTRER [Option ID = 28426]

3. Brazuka / SITS[@hT [Option ID = 28425]

4. Teamgeist / CIHSIRE [Option ID = 28423]

Correct Answer :-
o Brazuka / SIIS[hT [Option ID = 28425]

50) What is the minimum number of players per team that FIFA allows during a football game?

Tl A (AT @ g aT <SS T 8 Sl BT peaia i & gk SIaid ¢dT 67 [Question ID = 7U89]
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1. There is no minimum number of players required by the official football rules / UGG FHeald Fadl gRI
IS IS Bt gAdH U= gl & [Option ID = 28347]

2. 6 players / 6 RIEISI [Option ID = 28348]

3. 8 players / 8 RIa@TST [Option ID = 28350]

4. 7 players / 7 Ra@r8! [Option ID = 28349]

Correct Answer :-
o 7 players /7 3 é [Option ID = 28349]

51) What is the biggest advantage of interaction between the teacher and students

e 3R B & 9 STadid ST T98 931 BRIGT T § [Question ID = 7114]

1. It results in better group relations / 3% URUTAEET dgcR THE Tat §Id € [Option ID = 28450]

2. It falicitates effective learning / Tg THTd! ¥R &1 T Ugndl g [Option ID = 28447]

3. It satisfies the teacher / Tg fR1&id P TP T § [Option ID = 28448]

4. Tt encourages the student to ask questions / T8 BT &1 UY IS & o UieTigd &al § [Option ID = 28449]

Correct Answer :-
« It falicitates effective learning / I8 WHTdT R &1 JH I ggdTdl g [Option ID = 28447]

52) What is the fifth element of ashtanga yoga?

3P TN PT U=l ded &1 82 [Question ID = 7056]

1. Pratyahara / UdIgR [Option ID = 28217]
2. Pranayama / UTUIIATH [Option ID = 28215]
3. Asana / 3{I¥ [Option ID = 28218]

4. Dharana / YRUTT [Option ID = 28216]

Correct Answer :-
e Pratyahara / UdIgR [Option ID = 28217]

53) What is the measurement of Kho-Kho ground?

W1-@ AT PT HIY T 82 [Question ID = 7063]

1. 27mts x 15mts / 27 |l x 15 HI [Option ID = 28246]
2. 27mts x 16mts / 27 HI x 16 Hl [Option ID = 28244]
3. 29mts x 15mts / 29 HI x 15 Hl [Option ID = 28245]
4. 29mts x 16mts / 29 I x 16 HI [Option ID = 28243]

Correct Answer :-
« 27mts x 16mts / 27 Ht x 16 HI [Option ID = 28244]

54) Intrinsic motivation include

3idive 9o ¥ A § [Question ID = 7080]

1. Fame / URifg [Option ID = 28311]
2. Praise / URIHT [Option ID = 28312]
S—Awards /l PeARNEAAN [Optiuu 5= 28314]

4. Accomplishment / 3Ud £ [Option ID
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Correct Answer :-
e Accomplishment / 3Ud & [Option ID = 28313]

55) Geeta Poghat, who qualified for London Olympics 2012 belongs to which of the following
sports?

4T Urare, Y e Sieifue 2012 ¥ forw givgar fAufefed & @ fog @ 9 ddfta 22
[Question ID = 7087]

1. Weight-Lifting / YRl [Option ID = 28341]
2. Gymnastic / I [Option ID = 28342]

3. Wrestling / $Xdit [Option ID = 28340]

4. Boxing / gadbaTell [Option ID = 28339]

Correct Answer :-
o Wrestling / gﬂ?ﬁ [Option ID = 28340]

56) John lock’s phrase of tabula rasa means

AT 7Y BT S i PT GG § [Question ID = 7101]

1. Tal and ras / dId AR [Option ID = 28395]

2. Mind itself is the result of the process of evolution / A T fdTg & Ufghar o1 TRum § [Option ID = 28397]
3. Free education / U fRI&f1 [Option ID = 28396]

4, natural education / QW fRrem [Option ID = 28398]

Correct Answer :-

« Mind itself is the result of the process of evolution / F- T fawg @1 ufesar &1 ufumy g [Option ID =
28397]

57) No disinterested pursuit of knowledge and no intellectual education for its own sake was the
slogan of the

TH 3t Bis feaaadt 98 7 ok 39 fog #i5 aifg® Rien & 8, ST ART AT [Question ID = 7113]

1. Realists / GUTaTfeal [Option ID = 28446]
2. Pragmatists / IGgRaTrG! [Option ID = 28445]

3. Naturalists / U fadIfaal [Option ID = 28444]
4. Idealists / Grol SATGRIaTg [Option ID = 28443]

Correct Answer :-
« Pragmatists / dgRdIc! [Option ID = 28445]

58) At the pre primary stage reading aloud while writing is given importance. This is based on which
theory of learning

AT P SR Wk A Ued ¢ Yd Wufires =Rur § weea faar Sirar 81 g8 Weq & fygia w smenfka g
[Question ID = 7112]

1 _Trial and error '/ U'\ﬁP‘I'UT?j% fafer [ﬂ'r_ﬂ'inn 1D = 7R44')]

2. Insight / g91gC [Option ID = 28439] .
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3. Conditioning / SR+ [Option ID = 28440]
4. Imitation / Tedil [Option ID = 28441]

Correct Answer :-
« Conditioning / Fe I [Option ID = 28440]

59) The length of the vaulting table shall be

qIfecTT 39 B! @aTS 81t [Question ID = 7134]

1.135cm + 1 cm/ 135 T4t + 1 7 [Option ID = 28530]
2.130 cm = 1 cm / 130 99T + 1 ¥4I [Option ID = 28529]
3.125cm + 1 cm / 125 9T £ 1 JHT [Option ID = 28527]
4.120 + 1 cm/ 120 + 1 ¥ [Option ID = 28528]

Correct Answer :-
e 120 + 1 cm/ 120 + 1 THY [Option ID = 28528]

60) Each half in a Hockey game consist of?

gl A9 H yde 3T XM 82 [Question ID = 7088]

1. 45 mins / 45 e [Option ID = 28346]
2. 30 mins / 30 e [Option ID = 28343]
3. 35 mins / 35 fAFC [Option ID = 28344]
4. 40 mins / 40 fiE [Option ID = 28345]

Correct Answer :-
« 35 mins / 35 < [Option ID = 28344]

61) Emphasis upon the quick central problematic situation micro teaching is useful to students of

N P THRTRG RIS 1R SR A1gen! e ot & fore Suanft g
[Question ID = 7097]

1. Junior classes only / qﬁ?ﬂ HETT et [Option ID = 28381]

2. Primary classes only / FHad UdHH &MU [Option ID = 28379]

3. Higher classes and primary classes / 3= it 3R Uit FHemy At [Option ID = 28382]
4. 10 + 2 classes only / FHad 10 + 2 HEMT [Option ID = 28380]

Correct Answer :-
» Higher classes and primary classes / 3= if 3R urufire HET G| [Option ID = 28382]

62) What percent of meal of a day must contain fat?

T f& & HieH & ufa=ra # a1 8141 A1fd¢? [Question ID = 7139]

1. 5-15 [Option ID = 28550]

2. 40-45 [Option ID = 28547]
3. 10-25 [Option ID = 28549]
4. 20-35 [Option ID = 28548]
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Correct Answer :-
e 20-35 [Option ID = 28548]

63) Intramural programme creates in students the sense of
TR WRITH BT 3t YTa=1 § g1 8
[Question ID = 7092]

1. Involvement / YItGRY [Option ID = 28360]
2. Humor / g1 [Option ID = 28361]

3. Achievement / SUdf&I [Option ID = 28359]
4. Enjoyment / 3fT¢ [Option ID = 28362]

Correct Answer :-
« Involvement / HRfIGRR [Option ID = 28360]

64) The best place of social development for a 12 year old child is

12 9T & g & fore Irniore fAer &1 99w 331 W & [Question ID = 7116]

1. Family / IR@R [Option ID = 28456]

2. Neighbour / TSIt [Option ID = 28458]

3. School / ¥R [Option ID = 28457]

4. Playground / @& T HaM [Option ID = 28455]

Correct Answer :-
« Playground / d &1 H&H [Option ID = 28455]

65) Number of bones in the skeleton system are

$HTd ummert § gf¥al B U= € [Question ID = 7140]

1. 216 [Option ID = 28554]
2. 196 [Option ID = 28551]
3. 206 [Option ID = 28553]
4.201[

201 [Option ID = 28552]

Correct Answer :-
e 206 [Option ID = 28553]

66) Side ward curvature of the spine is called

fic 9 e & WIS T a1 B NI W11 § [Question ID = 7055]

1. Kyphosis / ©e3dT [Option ID = 28212]

2. Lordosis / 3fUgeaidl [Option ID = 28214]

3. Scoliosis / UTfgesTdl [Option ID = 28213]

4. Knock knee / HiaR g8 ge [Option ID = 28211]

—Corract Aneswer :-
o Scoliosis / UTWFH [Option ID = ZSVZV%/?/JN.FirstRanker.com
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67) The term amplitude refers to

XTeq ATATH P HeHd HaT @ [Question ID = 7133]

1. Direction of movement / 3figleid &1 fG=IT [Option ID = 28525]
2. Efficiency of movement / 3{TGIc T & [Option ID = 28526]
3. Range of movement / SfiGie &t HIHT [Option ID = 28524]

4. Flexibility / IT@Tg= [Option ID = 28523]

Correct Answer :-
o Range of movement / 3ffaiad & I [Option ID = 28524]

68) Which personality theory characteristically stressed the role of early childhood experiences in
shaping the person during the first few years of life?

fra afdra Rigia A e F 1gd $© a9l & RA aafdd $i dR 31 § RS Fau= & srgual 3t
YT W faRiy =u & 9@ fear? [Question ID = 7151]

1. Humanistic theory / AFaare! fRigid [Option ID = 28596]

2. Social cognitive theory / |THIST® TMTIAS Rgid [Option ID = 28597]
3. Psychoanalytic theory / AHIfa=eo0T RiGid [Option ID = 28595]

4. Trait theory / Sfdkicd fREid [Option ID = 28598]

Correct Answer :-
« Psychoanalytic theory / AIfa=eUT RIgid [Option ID = 28595]

69) Which injury involve ligament and soft tissue injury?

fra e A formie 3R gamay Sae @1 die e 82 [Question ID = 7137]

1. Strain / d-1d [Option ID = 28542]

2. Bruise / @I [Option ID = 28540]

3. Sprain/ |9 [Option ID = 28539]

4. Greenstick / U9 %1 [Option ID = 28541]

Correct Answer :-
« Sprain/ H9 [Option ID = 28539]

70) What kind of education do infants and children Receive at home?

Rrgral ik Tt &1 f6T uepR Ft e et 82 [Question ID = 7147]

1. Informal / 31 A9=Rkes [Option ID = 28580]
2. Systematic / SIafRId [Option ID = 28582]

3. Formal / 3fTu=ies [Option ID = 28581]

4. Non formal / 39T [Option ID = 28579]

Correct Answer :-
e Informal / 3 AU=TRD [Option ID = 28580]

www.FirstRanker.com



[’l » FirstRanker.com

J._ Firstranker's choice . )
www.FirstRanker.com www.FirstRanker.com

Maximum participation of students is possible in teaching through

Rreor & w1end A o Y Siftreaw HrfierR) WHa ? [Question ID = 7095]

1. Audio- visual aid / ar”r%a“r-ﬁqam Her™Idl [Option ID = 28374]
2. Textbook method / UTGUYIdsh fafer [Option ID = 28373]

3. Lecture method / SaRaT fafer [Option ID = 28371]

4. Discussion method / T faf¥ [Option ID = 28372]

Correct Answer :-
« Discussion method / Taf faf¥f [Option ID = 28372]

72) Cytoplasm belongs to

T & Haf¥d 8 [Question ID = 7142]

1. Brain / f¢HTT [Option ID = 28560]
2. Cell / T [Option ID = 28561]

3. Gland / Uf¥ [Option ID = 28559]
4, Organ / 3f7T [Option ID = 28562]

Correct Answer :-
« Cell / 9 [Option ID = 28561]

73) Values inherent in every human being is reflected in
U g¥ 59 | Siafifga gid &
[Question ID = 7117]

1. Idealism / 3T&=faTe [Option ID = 28461]

2. Pragmatism / ®dgRdiq [Option ID = 28460]
3. Realism / gyrfarg [Option ID = 28459]

4. Naturalism / WebfdidTg [Option ID = 28462]

Correct Answer :-
o Idealism / 3{qR[dIq [Option ID = 28461]

74) 2016 Olympics was held in
2016 3fidfu® # Smaiford
[Question ID = 7082]

1. Australia / 3{TferT [Option ID = 28320]
2. Athens / T3 [Option ID = 28319]

3. Beijing / d1fST [Option ID = 28321]

4. Rio / T4 [Option ID = 28322]

Correct Answer :-
« Rio / I [Option ID = 28322]
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75) How many feather are fixed in the base of a shuttle cock

Ted Yt & YR W fPa 4@ 79 fFe &1d & [Question ID = 7131]

1. 18 [Option ID = 28517]
2. 12 [Option ID = 28518]
3. 14 [Option ID = 28515]
4. 16 [Option ID = 28516]

Correct Answer :-
e 16 [Option ID = 28516]

76) Which of the following is against the principles of organisation?

frafafad & @ o9 91 W9 & Rigidl & f@e® 82 [Question ID = 7064]

1. Proper communication / 3f<id ¥aR [Option ID = 28248]

2. Proper decentralization / SESAECEACRY! [Option ID = 28247]

3. Delegation of power / Rifad @1 UfAMRHS [Option ID = 28250]

4. Overlapping of authority / 3R T 3G [Option ID = 28249]

Correct Answer :-
« Overlapping of authority / 3R T 3G [Option ID = 28249]

77) Which of the following are chemically known as lipids

frafafeEa § @ o1 w1 Tt v A fRifts ¥ v d &1 911 f [Question ID = 7119]

1. Candies / $eIST [Option ID = 28470]

2. Amino acids / 3fHIF! 3% [Option ID = 28469]
3. Fats / ddT [Option ID = 28468]

4. Sugars / ¥ [Option ID = 28467]

Correct Answer :-
o Fats / 94T [Option ID = 28468]

78) Which of the following principle of sports training is least important for a beginner?

AT & g Qe ufreor & fFrafefaa Rigial & @ #1991 Rigid $9 J $9 wgayul 82 [Question ID =
7062]

1. Specificity / ICEIG [Option ID = 28240]

2. Regularity / fAaffddr [Option ID = 28239]

3. Individuality / Sfddd [Option ID = 28242]

4. Known to unknown / 3T & T ST ST 8 [Option ID = 28241]

Correct Answer :-
« Known to unknown / 3f3Td & forg ST I [Option ID = 28241]
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1. T4 virus / €1 4 9109 [Option ID = 28231]

2. Rhino virus / IS aRRY [Option ID = 28234]

3. Simian virus 40 / RIFF TRIRY 40 [Option ID = 28233]
4. MSZ virus / THUISIS dRIRY [Option ID = 28232]

Correct Answer :-
« Rhino virus / T3 G [Option ID = 28234]

80) Which of the following macro mineral repairs and maintains body cells

fFafafea # @ S99 91 9% @ IR ) SRS F) AW 3R W@ T 8 [Question ID = 7125]

1. Phosphorus / BTG IRY [Option ID = 28494]
2. Magnesium / SFT-RIGH [Option ID = 28493]
3. Potassium / grefRry [Option ID = 28491]

4. Sodium / TISTH [Option ID = 28492]

Correct Answer :-
e Magnesium / HIREH [Option ID = 28493]

81) Which of the following is not a component of skill related fitness?

frafafaa & @ 19 91 Piva Yt fheaq &1 e 81 82 [Question ID = 7053]

1. Speed / TIfd [Option ID = 28204]

2. Body composition / TR @1 =1 [Option ID = 28203]
3. Reaction time / UfdfdhdT THT [Option ID = 28205]

4. Agility / IUddl [Option ID = 28206]

Correct Answer :-
« Body composition / TR &1 TR [Option ID = 28203]

82) Which of the vitamin is not a fat soluble vitamin

faeTfrm & & @19 91 99 go-ia faerfq 78 @ [Question ID = 7127]

1. D/ SI [Option ID = 28501]
2. E / € [Option ID = 28502]
3. A/ T [Option ID = 28499]
4. C / T [Option ID = 28500]

Correct Answer :-
« C /3 [Option ID = 28500]

83) Which of this is not a characteristic of a slow learner

79 @ i a1 i Rrandf 9 fadwar 98 @ [Question ID = 7110]

1. Abstract thinking / ITHT=I | [Option ID = 28432]
2. Short span of attention / &4 P BICT 3@l [Option ID = 28434]
3. Limited range of interests / fedl @t difta S [Option ID = 28433]

— L s k¥ 204040
. M [UPLUUIT 1Y = 207To1 |
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Correct Answer :-
o Abstract thinking / I1HII I [Option ID = 28432]

84) 2020 Olympic game will be held in

2020 3NEfU® W maiferd far SITem [Question ID = 7054]

1. Sydney city / Rr&+i q1&% [Option ID = 28209]
2. Tokyo city / Tadl RER [Option ID = 28207]
3. London city / T&-T Q8X [Option ID = 28208]
4. Athens city / 79 S8R [Option ID = 28210]

Correct Answer :-
« Tokyo city / €Iad! ]ER [Option ID = 28207]

85) Motivation does not consist of
W § =i A8t @
[Question ID = 7072]

1. Direction / f&=IT [Option ID = 28279]

2. Cooperation / TganT [Option ID = 28280]

3. Realistic view / gyrfare} faar [Option ID = 28282]
4. Persistence / g6 [Option ID = 28281]

Correct Answer :-
« Cooperation / GgINRT [Option ID = 28280]

86) Verbal guidance is least effective in teaching

A arfex Riaor § &9 F 9 UHTS ? [Question ID = 7098]

1. Skills / Y= [Option ID = 28384]

2. Concepts and facts / YRS 3R qeat [Option ID = 28385]
3. Relationship / ¥&¥ [Option ID = 28386]

4. Attitude / IIgf<T [Option ID = 28383]

Correct Answer :-
« Skills / IR [Option ID = 28384]

87) Who was the winner of golden ball award in the FIFA world cup 2014?

BIwT fay $U 2014 # Mes dfd REPR fA9d1 HF AT? [Question ID = 7107]

1. Ronaldo / IFTST [Option ID = 28422]

2. Thomas Muller / ¥THY GeR [Option ID = 28419]
3. Lionel Messi / @faTa A3t [Option ID = 28420]
4. Neymar Jr / FHR ¥R [Option ID = 28421]

—| Correct Answer :-

o Lionel Messi / dIITd A [Option IDW&%%QFrStRanker.com
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88) Effective communication is essential in sports management to keep alive its

Shfad T84 & e @a ygyq § gHTd SO Sawus @
[Question ID = 7093]

1. Foundation / TTSSYH [Option ID = 28366]

2. Characteristics / fa=Iwarsfi [Option ID = 28364]
3. Dynamics / TTfd@! [Option ID = 28363]

4. Principle / f4&id [Option ID = 28365]

Correct Answer :-
e Dynamics /7 @ [Option ID = 28363]

89) Components of fithess does not compose of

firer & Ue® AT 81 Hd & [Question ID = 7077]

1. Speed / TIfd [Option ID = 28299]

2. Strength / Mfad [Option ID = 28300]

3. Spirituality / 3T [Option ID = 28302]
4. Flexibility / IT@g= [Option ID = 28301]

Correct Answer :-
« Spirituality / 3TeTf&dT [Option ID = 28302]

90) According to JB Nash, which one of the following is not an objective of Physical education?

Sial A & garfas, 390 | S 91 RS e o1 3E¥a 78) 82 [Question ID = 7052]

1. Organic development / Sfdw faer [Option ID = 28199]

2. Neuro-muscular development / @—ﬂmﬁiﬂﬁm [Option ID = 28200]

3. Social aspects of development / AT & HTHIS® Tgqai [Option ID = 28202]
4. Emotional development / HIgATHD fomrg [Option ID = 28201]

Correct Answer :-
« Social aspects of development / fa®™g R IEISED q—gqsﬁ [Option ID = 28202]

91) Monika Batra, common wealth Games medalist belongs to

AT 931, 3 ¥ @ UGS fasiar @ [Question ID = 7085]

1. Badminton / Seftieq [Option ID = 28332]

2. Tennis / <9 [Option ID = 28331]

3. Wrestling /?Q?ﬂ [Option ID = 28333]

4. Table tennis / TS <=9 [Option ID = 28334]

Correct Answer :-
« Table tennis / ¢&d <= [Option ID = 28334]
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92) which of the following dams are not on narmada river

Frafafea & & o w1 giy a7 wad 3

[Question ID = 7103]

1. Koyna power project / SId-T UlaR Uolde [Option ID = 28403]

2. Maheshwar hydel power project / ATe%R Sidl fagad TRASHI [Option ID = 28405]
3. Indira sagar project / $faxT IR URAISHT [Option ID = 28406]

4. Jobat project / Sifsc TRTISHT [Option ID = 28404]

Correct Answer :-
» Koyna power project / AT UlaR UIsfd< [Option ID = 28403]

93) when was the first common wealth games held ?

gl 3TH ¢ Wl o9 AIford &1 8 At? [Question ID = 7104]

1. 1922 [Option ID = 28407]
2. 1934 [Option ID = 28410]
3. 1930 [Option ID = 28409]
4. 1926 [Option ID = 28408]

Correct Answer :-
e 1930 [Option ID = 28409]

94) Sociological foundation of physical education discusses

TrRe Rian 3 wrfore g aaf @31 @ [Question ID = 7071]

1. Rehabilitation / g’ﬁﬁ [Option ID = 28278]

2. Motor learning / Hiex HRaHT [Option ID = 28276]

3. Competition and Co-operation / gfaaifar 3k ggam [Option ID = 28277]
4. Body type / TRR & UHR [Option ID = 28275]

Correct Answer :-
o Competition and Co-operation / U SO 3R e [Option ID = 28277]

95) The professional requirement of a teacher as explained in the UNESCO publication is/are?

TAD! TSR T AT T U e o1 URiaR smaxasarg / 82
[Question ID = 7102]

1. Mastery over the subject and competency for teaching / fasr TR fAgurar 3R fRreror & o @werar [Option ID =
28399]

2. Innovativeness in approach and teaching strategies / Ef¥I0r 3R fRreror Turifaal & F=ar [Option ID = 28400]

3. All of these / SR F Tt [Option ID = 28402]

4. Justice to the profession / U9 & fow =mg [Option ID = 28401]

Correct Answer :-
s All of these /20T o waff [Option ID = 284021
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96) The proper ratio between protein, fats and carbohydrates should be

W, 991 3R Palesge & o4 Ifud guTd g A1
[Question ID = 7148]

1: 2 [Option ID = 28586]
1: 4 [Option ID = 28584]
2: 2 [Option ID = 28585]
2:

2:
1:
1:
1: 2: 4 [Option ID = 28583]

1.
2.
3.
4.

Correct Answer :-
e 1:1: 4 [Option ID = 28584]

97) The term "Beamer" is associated with

TR I A JSTEN B
[Question ID = 7105]

1. Hockey / gl! [Option ID = 28413]
2. Cricket / fohdre [Option ID = 28412]
3. Chess / RIdST [Option ID = 28411]
4. Football / esiid [Option ID = 28414]

Correct Answer :-
« Cricket / fohpe [Option ID = 28412]

98) ELISA test is used to detect

et wHarr 1 uar @ ¥ R yahT far §rer @ [Question ID = 7128]

1. Renal infection / ¥Ad HshHUT [Option ID = 28506]

2. HIV infection / T=I38d! YghHUT [Option ID = 28505]

3. Lung infection / S| &I HshHUT [Option ID = 28504]
4. Viral infection / faNTU[SIfd HshHUT [Option ID = 28503]

Correct Answer :-
« HIV infection / Ta3MTsdl TshHUT [Option ID = 28505]

99) In India, the School Health Services started in

YR H, Tpd WA AT = §5 [Question ID = 7059]

1. 1949 [Option ID = 28228]
2. 1909 [Option ID = 28227]
3. 1962 [Option ID = 28229]
4. 1968 [Option ID = 28230]

Correct Answer :-
o 1909 [Option ID = 282271
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